000000000000 (ooooo)

gooboogggooooggdooooggdgooogggoooodgadn

gboobgobooboboboboobobooboobooboobo
gobbbouoogbobbooogbbbod

gbobbuoooobbboooobboo

1. 00oboo

gbobodbbogbbuoboboogbboobbuoobboobuoobboo
ooboooboobooboooooooooooogg e : S*=T*0bboOonoon
O0 (SO0000oDooooTrooooooo)

.0ooggn
gboboodbbogobbuogboboogbboobbuobooobbuooboboo
gbobogboboogdbbuooobboobuooobboobboooboboo
gboooooon

.oo0ooooog
r000000000000000000000000000000L (1=1,2,...,9)
0000000000000 oooooooooooooooo

q

Zr’llgl

i=1

gbooboooobood

.T={ab,ec,d}000000TTO0000OOOSOUODOUODDOT*OOOOTYO
gbooboogobobod

a,b,c,d,aa, aaa, abe, aaaaaa, abed

00000070000 T7TT00000000000 0000

.oooooon
gboboobuodbooboboobugboboboboobooboboaod

00500000 sg,81,82,8,50000000000 po = 0.35, p1 = 0.25, p, = 0.2,
ps=01,p,=010000000000002000000000000000000
ooOooooooooo



0.35 & 00
0.25 S 01
02 S 10

0.1 S 110

0.1 & 111

O000000000000000000 s+ 00, 51 — 01, s5 — 10, s3 — 110, s4 — 111
Ooo0ooooooog
035 x24+025x24+02%x2+01%x3+0.1x3=2.2

gooo



